Solving in Exponential Models – Last lesson!!!

1.   y = 50 ∙ 4x  , where x = 3

2.   P = 900(1.021)t  ,    where P = 1200.

3.   y = 2.5 ∙ b x,  where x= 4/7 and 
y = 2.58464

4.  2x = 25  

5.   3x+4 = 37

 6.   3x+1 = 92

7.   52x+1 = 252x

8.   4x = 163x+2

9.  The planning department of a township is responsible for estimating the number of utility hook-ups needed in a new subdivision.  The current capacity is about 729 hook-ups per year.   The actual demand, D, for hook-ups is given by D=27(3n), where n is the number of years since 2007.  

Determine when demand reaches capacity.

Homework:  pg 384 #3,5,7,10
REVIEW:

1.  3 Types of Mathematical Models

Linear :
1st Differences are the same




y = mx + b


Quadratic:
2nd Differences are the same




 y= a(x-h)2 + k


Exponential:
Finite Ratios are the same




 y = a b x
Which one has the largest growth rate as x increases?


Which one has a constant growth rate?


What one(s) has/have changing growth rate?
2.  Exponential Models:    y = a b x

What does a tell you about the graph?

What does b tell you?

If b <1 then ____________________

If b > 1 then _____________________

Example:  The population of Ottawa can be modelled by the formula

P=1.2 (1.05) t , where t is the number of years since 2010 and P is the population in millions.

a) What was the population in 2010?

b) Is the population increasing or decreasing?  By how much?

c) What will the population be in 2020?
d) When will the population be 2.21 million?

3.  Working with Exponents:  





30





3 -2





81 1/2





27 5/3

